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30r41200/1 Zurlrluuurnp, qnuruhhtruL rurhh uu huln 2450 2 4,9

30799792/1 Onurqntlq uu Zurur 800 3 2.4

30192125/1 lfurnlrhn uu 2urur r40 5 0,7
30199420/7 Lznr-tfh 1anq1a uu Zurur 800 20 16

3079723111 Surrt uu Snuh 1100 35 38,5

3926320017 QnuruhhruLurrhh qhnp uu Zuln 760 25 19

30t92130/7 Uuruhu uu Zunn 100 94 9,4

30192133/r uPb) uu Zuln 300 10 3,0

39241260/3 Qpuruhhlur\ur1|rh 4urhur\|r uurlphp uu Snh 350 1 0.35

30192100i 1 llhrnlrh uu Zunn 100 40 4,0

30197230/I fanBulltutnub uu Zurtn 400 110 4.4

30192121,tr anh> uu Zurn 60 200 t2,0
30197622/t fdnrrrra U4 uu Zruur 2000 200 400,0

30199340/r 2hruFnr-nB uu Zuru 10 700 7,0

30197r72/r lrurnhthrlhuiurnrururntLuruhn, rihqhb "uu Snuh 120 10 t,2

301972321r faqpulrlurhur\, \n2r.nl1urqilnr] (hruuu)
uu Zunn 800 30 24,0

16161 100/3 ur1 1 qurhurqurh url qhqnpbur\urtr
uurnpurdnnntilhhn

uu
uu

2ruur 2000 2 4,0

1676170014 ru1 1 qurhruqurh url qhqnpbur\urh
utunpunlnnnuihhn

UU Zuru 1000 5 s,0

4213tr0011 rhurburhhhn' nurn qnnburnnrtBhhnh uu Zuln 3500 6 210
3432rr2t/1 ulhnnrlhphhurhhnh rnrnh quhrhtn UU Zurtn 1000 2 2,0

3432t270/7 rurlrnnrlhpttluhhpf urp4f ur\urhurgtfurtr
hullurpurbnthhn

uu Zurtn 4s00 I 4,5

3r7tt33017 ilrut nrlr-rfurrhh ur ntlul hn uu Zunn 270000 I 27,0
09132200/7 phtrqhh, ntqnrllurp uu L 450 200 90,0

094tr500/1 rlhraruh uu funn d 200 1200 240,0



0941 1300/1 utlrnuturh qurq uu L 240 240 57,6
0913424017 nhqhr urrhh rlurnhr hp, urilurnurrhh uu L 450 100 45,0

O92IIIIO/7 rurndhrh rnrnhn UU L 1600 12 19,2
24957320/7 hurLuruurnhr hhnnrh UU L 1000 ) s,0
09211650/7 urnqhruhh hhnnrb riu Zunn 1000 I 1,0

30234620/r $rhr hhrnnnrtarnrb uu 2unn 4500 2 9,0

392274201r funqurhurh ulqurlnr tiu Zuln 2000 2 4,0
3922433r/7 'Inttt tuturuurtluruh LIU 2uln 1200 4 4.8
444tt75ur g*!h uu Zuru 5500 2 11,0
445TII2OIT Qnqurdhurl,r UU Zuru 2000 3 6.0
307929101r nunhr hnhohhn Lurd dunuruilhhLhn uu Zuru 350 10 3,s
42r3r430/l rhurt ruhhhnh aurndurb htn uu Zuru 1500 4 6,0

44423600/l durutrudhtr \utlnrh uu 2urur 800 70 s6.0
44423600/2 'Tlnt hrlhnut unnrlp durx unlth UU 2uln 450 25 11.25

34221250/1 hqnnnhhnh h hhuurtqnnnhhnh rftuutn uu Zunn 100 130 13,0

18421130t1 2hnbnq purhrlnnurhurh UU 9nrrq 300 100 30,0
r842rt30/2 Qhnl.rno ut-rtnhurub url uu 9nrq 250 140 35.0

18931 130/1 'tlurnh tnhtnhuurh url: uu Zuru 100 250 25,0

33761r00/1 9nrq.BnuB uu Zurur 90 1200 108,0

r842tr30/7 2hnfunq ndrhruhurh uu Zunn 30 800 24,0

42r3rr00/2 @urbruh nnurh uu 2urtn 5000 5 25,0

4213rt00/4 'Inurh rhurbruh hhnphh uu Zruur 8000 2 16,0

42137430/1 rhurlr urtrhtnh rurndurlr hhn UU Zuru 2000 4 8,0

33141 1 18/1 Uh&hnnoht uu Zuru 200 85 17,0

3951440017 fdnptur unEht uu Zurtn 600 40 24,0

39831282/1 UurhnupilurpnhlnL turta uu 2urtn 160 85 13.6

39831240/1 rftupnnn htnrptn uu Zurur 3s0 40 t4,0
3983124217 rrluqph rhnrh &hnpnrl rrhuhurrnr hulftun UU Zuln 400 30 72,0

r964t000/r r:lnr hkBhrhburrhh qurnh, runph hullurn UU Zurr.n 600 15 9,0

39831283/1 huruurth rrlurqilurh r urrd uu Zunn 760 35 26,6

39831241/7 2hnph odurn uu Zuru 100 300 30,0

39831240/2 tlurpnnn htntrahn uu 2urur 260 110 28,6
39831245/1 Zhnnr.b odurn uu Zuru 550 46 25,3

39221410/1 Urlhr uu 2urtn 1000 20 20,0
031 1 12s0l1 trurtlnurh uu Zurur 200 500 100,0

3983t240t3 riurpnnn htnrBhn uu Zuru 570 7 4,O

3492r440t7 pullrnhhhph It utrllh rnurpurhhp h
urnpullurhhhn

uu Zuln 3000 1 3,0

30t92790/1 @urrrurrahrahn uu @urB 1000 ) 5,0

19241200/1 tuull ull nn qnnbil rubphhn UU u 600 15 9,0

3r2ttt40/7 ht.uluurhnrlhr -uu Zuru 3100 40 t24,0
3972150017 Surpuqnrqht uu Zunn 6500 I 6.5

39721500/2 Srupurqntqht uu Ztuur 27000 4 108,0

38431570/r h.uurthh uu Zurur 6200 l5 93.0

38431570/2 Lr.uurhh qe 2uru 15000 30 450.0

31686000i 1 fupttg uu Zuln 350 18 6,3

3r53r7tO/r 'Innuht tnruunnnrh uu Zrurn 900 10 9,0

3121 1 180/1 hr. Uhqulnht 1urhnurhh uu Zurur 1000 45 45.0

3r2llr8012 Urlrnntlurtn urhqurtnhr 25A uu Zunn 3000 10 30.0

3i21 I 180/3 Urhnntftuur ruhounnhr hnur$uq uu Zunn 7000 4 28.0

37211780/4 Ur.lurnilurtn urhoururhrh rnnuh uu 2uln 4000 2 8.0

3rst2360/r tnruurn&urhhtn uu Zuru 4300 3l 133,3

3rzltl40/2 Lr. Urlurhnrlhl UU 2uln 2700 t2 32.4
44141200/1 ht.rnqurhurt tiu 2rurn 5s0 18 9,9



3r32t200/l hr. I-urn uu u 250 400 100,0
316844001r ht.rlurnnurh uu Zruur 1000 'tJ 75.0

3151243011 ht.tunft:l UU Zunn 120 370 44.4

44s2r230/2 UrlnrubrurnhN6 uu 2unn 10 100 1.0

31683400/1 bnurpurrtuhylf/w -r/z uu 2uln 2400 3 7.2

31687000/1 Ulrqnlil {/w - r/z uu 2unn 1200 9 10.8

31512360t2 I.t+ tnr-uurp&urh uu Zurur 4800 36 t72.8
3983124512 Zhnnrh odrun uu 2urur 2000 I 2,0
39714220/2 Onnnurhhr qz Zurur 250000 I 250,0
42911750/I Onurrhnluntprurh qurhq uu 2uln 1500 6 9.0
33631282/r hur\urpru\urhpf url rlfr2ngbhp'

ru urnntnurt ruh oouurolnbrlurh hurtlurn
uu 2uln 4500 3 13,5

249tt200/r htlnttuhru uu Zurur 3800 6 22.8

444t1750/I Uruhhurhqntlqh gnururrun uu 2unn 5000 3 15.0

44410000/I Uh$nhh qltuhh UU 2uln s00 10 5,0

44410000/2 9nrqurpurhurllnhph uh$nh(qnSnh) O 100 UU Zuru 2800 2 5,6
19241200/1 Uru urhhrullpurhrur qnnbdurbp uu Zuln 4500 5 22.5

44831500/1 Ln6hr 0,5r qZ 2rurn 800 42 33.6

38417200/l hr.qhnilurrufi tiu 2ruur 6000 3 18,0

42941160/3 fltnilnuururur LIU 2unn 13000 4 40,0

31 1s0000/i ht.Bnnrunthr LIU Zuln 2s00 11 27,5

44870000t2 hhnb uu Zturn 3750 I 3,8

42rrr2t0/l gbe!1p{h 
"*tU uu Zurut 400 20 8,0

4417rr00/1 Zruurur\fr uurl_bll qpurhlrut 60x60 q2 Uhup/p
tuD.

8000 130 1,040.0

44161240/1 6.tnrh tunnnrhulr uu 2unn 1200 60 72.0
24911600/I unuhh&' rlnrlhhur uu 2uln 1000 6 6,0

24911600t2 htuopuhrhh unuhh& uu Zurur 1500 2 3,0

2491160013 Uurrhhh unuhh& K 17 sz utlupt 4200 60 252.0

43221100/1 €uurhurnnhr uu ?urur 1300 5 6,0

39221480/1 9ntqurpurhur\"ltptt |unqurhur\ uu Zunn 1000 2 2,0

43611190/7 funnnrlurth Lquriluru uu 2uru 500 600 300.0
44TIT4T6/T Lhnb durLurururrhh q, Zuru 21000 2l 447.0

44471300/r I.rlruqulnulb uu Zunn 28000 8 224.0

31711250/r tn$rlhpur3$r d\urlunrlnr{ur\ uu tI 400 270 108,0

44ttt4t3/r LhnL rnuurtrhnL uu Zuln 3750 4 15,0

44IIT413/3 3nr-nurhhnL qz Zurur 8200 10 82.0

44III413/2 3ntn urtrhnL uruhururlr uu rro 2162.2 3.7 8.0

44810000/1 LhnL runnhpu UU Zunn 9500 10 95,0

44921500/7 OhrhurtlurEhL q2 ,TIurnh 4500 30 135.0

4492t500/2 Ohrhrurftubhb h uLl durhtr 'sz 'Ilurnb 6500 15 97.5

4492rrr0/l $htuu turnurh q2
'TIurnL 2400 30 72.0

44t92400/7 Qurg uu 'Tlurnt 1300 15 19.5

447tt200/l Shrlhhur q2 tTlurnb 3000 40 120.0

142rr100/r Urhuq q2 'TIunh 250 160 40.0

44110000/r CnhrurL tururuurhLr qZ Zruur 750 40 30.0

44110000t2 Cnhrrllrh Lquriluluhn rur urutnhL SZ 2unn 100 60 6.0

42131230/l @urLurh pnh uu 2urtn 2300 40 92.0

42131230/2 9nhrhurlrurtrqhnhhurdnn 3/+ nrrrrrl uu Zruur 3000 I 3,0

249r1200/r Unuhh& uurrhLh uu Q*ntt 4200 40 168.0

42trr2r0l1 Uurr hh hnhuulu ururlurh uu Purn.rI 5600 70 392,0

4265120011 tltntpht uu 2uru 10 1400 14.0

44161240/1 funnndurL rlltu uu u 360 100 36,0

44161240/3 &Lrnrh hrnnnrlurb uu Zunn 1000 2 2.0



44537160/r 'tltnnttnurlt uu 2uru 4 3000 12.0
44531160/2 'Ilununurt uu Zurur 10 1400 14.0
443rrr5017 rlhtnuraurlr urh qnnbdubphhn uu 2uln 50 400 20,0
39191 100/1 Qhur u urnrl runrurdn rah uurr hlr qz 2unn 4s00 25 r12.5
42131490/r Uh$nh uu 2unn 1500 20 30,0
44111417/l LurtuurhtnL UU Zunn 3200 10 32,0
444t1r00/I Onnurlr uu Zunn 3000 20 60,0
44s27720/7 Ouburh nnruh uu Zurur 2000 r4,0
3r711250/t 'II.[€ tunqn{ult uu Zurur 600 60 36,0
42991470/r 'II{€ }unn nil rut h t quriluru UU Zurur 360 60 21.6
377rr25012 'tl.{€ }unnnrlurt (D50 2il uu Zunn 1000 30 30.0
243rrr20ll rturnnhn uu Irq 8s0 30 25.5

14810000/1 lnburranuta uu U 2000 25 50,0
14810000/2 'tluruh ruLrhtnrhurL q2 luru 250 93 23.25

196422001r 'tlnr hkohr hhurrhh rarun urhra uu Uhutn 250 30 7.5
14810000/3 &urphnh qulhq 5uilx 90il qz Zunn 1500 l0 15.0

44331400/1 'Tlnn$hr F47 uu Zunn 800 12 9,6

44331400/2 tnn$hr F47 CTZ Zu:u 1000 10 10.0

42731470/1 DnnurLh ilhqnlt uu 2uru 400 20 8,0

42r3r470/2 'Intuh rhurbruhh rlhonrL Tutl uu Zruu 1800 4 7,2
44r63tru7 Qnruhhnurqilurh urnr-fnrhL Fl 50 UU Zuln 5000 2 10,0

44116200/7 I-rurfhtrurqdurb aU'Il uu Zrurn 31000 15 465,0

44117100/7 LurilhhuLlqurb a'{'tl uu Zuru 4300 10 43,0
30t92233/7 Uhrhlrnh uu Zurur 1000 10 r0,0
39141110/1 Uhnurhurburblr uu Zunn 27500 6 165,0

39831283/1 Zruunuhh trura uu 2urur 1000 2 2,0
18841300/1 o'tuhh UU 2urtn 200 70 14,0

44II9TOO/T Lnnrur.nurtutnurh UU Zuru 4200 I 4,2

44trt4r2/7 Uhrnhlrnn hhnh uu Zuln 32s0 2 6,5

39299200/l Ur:rurhh uu Purn rI 7500 10 75,0
4267r140/1 hthrnnnn uu Snuh 3800 4 15.2

42991420/1 Qnh $hrtnn uu 2ruu 11000 f s5,0
35111190/1 @nrhnrn rhhurnrunurhurh uu Zunn 2100 10 21.0

39812100/1 Urubht uu Zrurn 4100 3 12.3

391s1220/1 rrurhnr-rph hquiluru UU 2unn 2000 4 8,0
3975122012 hurhnuph rftuuhn uu 2unn 1500 30 48,0

44792630/1 Ztnrnru uu 9q 1350 6 8,1

30r9723Ur 'TInt hltrht hhurthh Burnurhp uu cbil 200 25 5,0
44t92630/2 2hnrnru-rftutrtL UU Zurtn 30 200 6.0

4442365t/r fthrnhhh rahnBhn uu rrq 2160 40 86.4

44231200/1 @urtrnh tnnunl -uu u 450 45 20,2

3919140017 Zulnur\|r Eurb\nr1p uu €urn.rI 1600 3s0 s60.0

4452123017 Uilnurt uu Zurtn 40 200 8,0

3r7rr2s0l3 funnmlurh rlhtnurntur uu u 1200 100 120,0

33621290/r Unnhhurrhl-r uu Snrrh 1580 I 1,6

2432t660/r .Fhrnurur urilhrnhn q2 Sntrh 68314 4 273,3

33691129/r Luruplrnuflr plnph4 UU Zuru 450 2 0,9

3369tt29t2 rrurtqhnr-r-th ptnnhn uu Unrlurb 90 20 1,8

33I4III4/I Furhqh$ uu u r20 30 3,6

33141 1 10/1 .{hnrutulu uu Zurur 200 60 12,0

33691390i1 qlhutu uu Zuln 21500 2 43,0
18141 100/1 2hnhnq qLhilurb UU Snr-rh 2000 t6 32.0

336911331r 9nrn unuLilurl: uu Snuh 200 10 2,0



33l4rr4217 Lhnurnlrhl uu 2unn 50 30 1,5

33161260/r Uhu$qf rnurFlu uu Zurur 100 10 10,0

4479270017 Lhnbunurnurhurh qrurh uu Zunn 1800 6 10.8

44t92700/2 Lhnb urnrunurb url-r qr urh uu 2urur 2000 10 20.0
4451t340/2 Qurrrhtnl: uu Zunn 1500 3 4.5

39221460/I Lhnb urnurnurL urh rl n&hh uu Zurur 700 6 4.2
39221460/2 LhnL urnurnurh urh rln&hh uu Zuru 1000 5 5.0
37451640/l 9unnn ubullurnurl-r UU Zunn 1200 80 96,0

I452II7I/1 Znburpurn uu Zunn 3000 I 3.0

1831 1 190/1 furururo uh UU Zurur 6000 1 6,0

I83III9O/2 furuturra turunrtur uu Zunn 4000 I4 56,0

1831 1 190/3 fuurlurp ur4|lnur\ uu Zunn 3s00 62 2r7,0
181 1 1200/1 trurhrl nnurb urh urnrnruhruqrlurn uu 9nrjru 12000 9 108,0

t83Itr90/4 trurhrlnnurt urh tuurt urp UU Zrurn 3500 110 385,0

1831 1 190/s fuurrurp rIhL urhquilrur uu Zurur 500 10 5,0

1831 1 160/1 trurluhr uu Zunn 25 200 5,0

r844It00/7 FdrturLruh qltuunL uu Zurur 25 200 5,0

33r41129/r 'Ihrfurt ndrLurburh uu Zunn 18 200 3,6

03320000/1 IJnrL rurnnnurlnnn uu Zrurn 1000 540 540,0

03321800/1 6.urgurrr uu Zurur 11000 10 110,0

03320000/2 Unhhrn uu Zurur 1800 200 360,0

44III45OII llnurnh urturL urh ul:l urt h uu Sntrh 540 20 10,8

44t71400/r Lnlnp pnnrfntnnqnur$ rahBhn qz Sntrh 46000 3 138,0

42T2II5O/I Qnh runr-ful uu Zuln 25000 I 25,0

331 I 1 100/1 fthhurqhh lunnnrlurL q2 Zunn 545000 2 1090,0

42121420/I ltnrfu;nhunn uu 2urur 22000 I 22,0

3r7rr330/2 I-urpn1rurtnnn r] urh nrltil ul nilul qZ Zurur 220000 I 220,0

75991700/l $lrf-nh pnr-Rla qZ 9q 3200 10 32.0

24321660t2 Snlnrll o-2 L 1600 40 64.0

24321660/3 'I f ilhuf 1,[npilurtf]rr1 qz L 1900 40 76.0

2432166014 kurrhnulhhhnnnpuhn qZ 9q 1190 50 59,5

243216601s €rnnn$nnrl qz Trq 2500 60 150.0

24321660/6 Zhpuurh sz L 2400 90 216.0

24321660t7 Ughunh qZ 9q 938 s48 514.0

24321660/8 'Ihtrahrhratn s2 9q 6400 277 t772.8
1591 1 100/1 tr d2\ur\uhuqlrprn 9 60lo uu L 900 592 532.8

24321660/9 $nr\ulrtr h[dhu3[L(h[rurnnlnq]rur\urtr h
hf uunpf ilf ur\urtr hhurruqnunr-plnrhhhplr
hunlurn

qz q 75 100 7.5

243216601I0 Uhplrgn4ur3]rh qz (rq 50000 27 1350,0

243216601rr rrurrhnrtftublrurunnrhuLurh / ri (runtnurc) s2 Irq 800 50 40,0

24321660/12 trhhqnr qt L 3000 400 1200.0

24321660/13 QnfthpflhLqf\n1 200 qz q 80 250 20.0

24321660/14 'tln$tpflthqf\n1 a6oo qz g 248 250 62.0

243216601rs uhpflhb p1nFhrl q2 trq 1000 50 s0,0

24321660116 Shurntuhhnnntuhnuh qz L 120000 2 240,0



24321660/17 Uu\urplr4 q2 9q 10000 7.7 77,0

24321660t78 €urnurplnn urbhurbhh q2 trq 10000 16 r60,0
24321660179 Uuhurnhn o-t ko 10000 2,85 28,5
24321660t20 Zht hnr-tf uhntfr]urb curq tru funn rI 58928.5 28 1649.998
24III160/1 Uqnrn qurq s2 funn rJ 1000 28,4 28,4
24rrrI20/1 lhnnrh hhrhnr-il tru L r4400 650 9360.0
24IIIT7O/7 Zhqnt\ uqnrn q2 L 400 2100 840.0
24trII80/1 faBrlurbhh culq q2 .Furrnh 3s00 50 175,0
2432t660/21 SnhkBhr onran$nnrfhurur q2 Ur 39,4 s00 19,7
24321660/22 SnhkBhr onrdnurqhuuru qz Ut 265 100 26,s
24321660t23 $nnrfurtfhn g2 9q 53600 0,5 26,8
24321660/24 Zhnnurqhb tfnhnhhnnuln q2 Irq 80000 0,5 40,0
24321660/25 hqn-$rdurturtatanr sz Irq 36585 6.3 230,48
24321660/26 fdhuLthhpnnr.thn qz 9q 100000 3.5 350.0
24321660/27 ttn$ (af ilhpf 1-ufrlopurutr) burlpur3lrh

hh+nopuhr hrlphnnr.l
sz q 430 s00 215.0

24321660/28 Anft (alrrfhpf ;uf lopuurh) Eurlprul|rh
ullhhnrlnnurhr turlntnnrl

q2 g 1750 200 350.0

24321660/29 N,N- +hrfhBhr ullhbnrhhq urr nhhhn qz q 763.63 275 210.0

24321600/L trthqfr$lr qZ kq 300000 2,0 600,0

24321600/2 trhhql+hL 4|rhlr4pnpppfr4 SZ Irq 250000 1,0 250,0

24321660126 ttlhnurqnt sz q 1500 100 r50,0
24327660/27 1,2,4 -Shnurq nr -CzHsNs 98olo slz q 1020 100 102,0
24321660128 Ut ht pnnrlhn - CtHsBr 97 o/o qZ U1 120 250 30,0
24321660/29 tpnulurpq[L FFnrIb+ C:HsBr80o/o urnlnurfir

tnr-bnr-lra

q2 U1 600 250 1s0,0

24777720/r Zhfnttl purpbnrl99o/o qZ Zruur 320000 I 320,0

2432t660/30 'Tlhnnt C4HsN98o/o sz lJr 600 500 300,0
24321660/31 Uqhunhhunhr CzHsN99,8% s2 L 12s000 2 250,0
24321660/32 Lppur2hpur ppnrfmnnqp*Sh*t h

BhBhntrhn

qz S"rS 200000 I 200,0

24321660133 Snhour-thnu-th nnnhhurnphhnr 98olo qZ q 490 s00 245,0
24321660/34 '\hhBhr htrcr hlrnr h ilnhnrlhBhr h Bhn 99o/o qZ Ut 50 1000 50.0
24321660t35 5, 1 0, 1 5,20 tnhrnpur$hhhr urnn$hnh\ 98o/o q2 q 8400 25 210,0
24321660/36 5, 1 0, 1 5,20 (rnhtnpur-qurpur-urnfrl)

unn$hnhh 98olo

qt q 7500 25 187,5

243t1320/1 Uurhqurhlr II plnplr4 MNCb 98olo qz q 1080 25 27,0

243t7320/2 €pnil|r II pppfr4 CrCb9So/o q2 q 2200 10 22,0

24321660137 Shrnnurhhnnnrahn$ hh 9 9olo q2 q 330 100 33,0
2432t660/38 3,4'Ihpt nnrnr-Bhh - 1 C+HoClz 98olo qz q 340 100 34,0
24321660/39 8hu-1,4-'IhprnnpnrBhh -2 CaHeCb 95olo qZ tt 3000 25 75,0
24321660/40 1,3-'Ihpt nnnnrBhh -2 CtHeClz 95o/o q2 trq 3400 10 34,0
24321660/4r allrpnl |ralrh C+Hql,t 99olo qz trt 232 500 116,0
2432t660/42 Utnnrth CgH+O 90olo qz UL 60 500 30,0
24321660/43 UhhhnnnLr s2 rrq 30000 2 60,0

30237490/r Zulirullupqlr2-Unhlrtnnp 4Gb 500c 21.5 qZ 2ruur 300000 I 300,0

24321660144 'IhrBhnurqdurb nhilhBhr untr gopuhn qZ 9q 1s00000 2 3000,0

24321,8101r 'Ihlphptugrlurb plnpn$nprf qZ rrq 285000 2 570,0

4477t400/2 Lntpp ppnilnrnngpru$ BhBhn qt Snulr 200000 t 200,0
2432t660/4s 'IhprnnkBurh sz Iq 2400 25 60,0

18931230i 1 'Ihrlururnrrlr uu hunn 17 10000 170,0



78931230/2 'Ihrlunnnrrlr UU huru 34 3500 119,0

39s1s410/1 Chpurun{urpurqnLlF UU il[ 12000 30 360.0

42961710/r Unrurplrhu\n r1nrp3 urhhuliur\urpq uu huru 165000 I 165.0

35127320/7 urhuurluglr\ uu hurur 20000 I 20.0

32333400/1 Shuurqpntpl nthpqpurh gnluuFp uu huln 100000 I 100.0

42961110/2 tlnr-uplrhu\nr1ntp3 urhhunlur\urp q uu huln 30000 2 60.0

18451 100/1 rrndur\ uu huln 1000 2 2.0

2245II70/l Uurqhlruur\ruhpruprn uu hurur 600 15 9.0

31 151 120/1 Utrfu ur$rutrutrnr-grlurhuurpp uu hurur 30000 2 60.0

4273rr00/3 Qur\urh (riurqtrfruur\urhrfrur\urh) uu hurur 23900 2 47.8

44322100/1 Urulnrlu uu rlhurp 200 20 4.0

37221220/1 SnrrJriltulntiulrh ur durp uu huru 400 18 7.2

32333400/2 Shuurqpnr-p1 nr-hpqpurhgnluurpp uu hurur 35000 1 35.0

30232237/1 (rn2uru\unlurnur\ uu hurur 30000 1 30.0

35721320/2 urhuurluglr\ uu hurtn 20000 I 20.0

31751720/2 Uhnrgtlurhuurpp UU hrurn 10000 1 10.0

44322100/2 tlurprlu uu ilhrnp 200 t2 2.4

44322700/3 Uurlnrlu uu dhrnp 200 I 0.2

44322100/4 Llrlurlntlu 2x4 \1np UU tlhrnp 700 30 21.0

44322100/5 \rirulntlu 2x2,5 \1np uu ilhurp 350 100 35.0

44322100/6 hlilrulnrlu 4x4 LIU tthurp 1000 20 20.0

31221220/2 Snr-rf rlurlntlulr hrutturp UU huln 400 6 2.4

3027It90/2 Uh &hur\ruhhuniru\urp qlr2 qt hurur 255800 I 255.8

30232130/r sqttr SZ hunn 13r000 I 131.0

30239130/r Sulf 2purqilur$nttr\ glrnhurl SZ hurr.n 150000 1 150.0

42111210/2 Uurr hb tnhuunu ururriurh uu €run.tI 12521 2.16 27.045

37717760/r hp\rnpn4 uu huln 180000 I 180.0

24321660/46 Zhnnurq hhilnhnhh+nurur qZ qnurd tL2 500 56.0
24321660/47 Shhurqhrnunfhn qz qnurd 184 500 92.0
24321660/48 hqnrlurthnhurhurppnt q2 tfi 352 s00 176.0

2432r660t49 N, N-'Ihrfhrahr ullhhnkBhr ruilhh s2 ilr 680 100 68.0

24321660/50 N,N-rlhilhBhr hhnnurq hh qz qnurL[ 9000 4I 45.0

24321660/57 llhrahrhhnnurqhh qz qnull t240 25 31.0

24321660/52 3-Zhnnopuh phhqnurL urhpronr q, qnruil 420 100 42.0

2432t660/53 3-Zhnnopuhnhhqurr nhhhn q2 qnuril 580 100 58.0
24321660154 (-) LhbnuhLh hhnnurur >99olo qz qnunl 10600 25 265,0

24321660/55 l.hlrn t hruraran t-9 9o/o qz Ur 2950 100 295,0

24321660/56 Snh$hhhr $nu$hur -97olo s2 90000 1 90,0
2432t660/s7 P,P-nhpr nn$htrhr $nu$htr 97olo SZ U1 320 500 160,0

24327660/58 h1h\upur\urh uurfir\ pf ilf u\ulr
burbl,rnuranrl

q2 Zunn 800000 5 400,0

3r7rr330/1 l*hstou{.s4s sz Zuru 220000 3 660,0

33747217/1 I-urpnpururnp 2urulnlnl qz Zunn 20000 15 300,0

3831 1 100/1 h1h\upnhurlirtr\2tnp UU 2uln 80000 I 80.0

3831 1 100/2 h1h\rnpnhrulf b\2hnp LIU Zuln 200000 I 200.0

24321440/7 €urguriuurppnt uurn gurlfrh qz ltq 1000 80 80.0

24321660/59 UqntnurLurhrapnt qz Lrq 1400 30 42.0
24321660/60 Uhurqlrplnplr4 q, bq 1s000 25 375.0
24321660/61 Unurptanr q2 hq 800 3s0 280.0

24321660/62 UhBhrhh plnnhn qZ Vo 1s00 50 75.0
24321660/63 Unuraranr- qZ kq 300 90 27.0



24321660164 -{urLmlttf tnul SZ 2200 40 88.0
24327660/65 O'brfpurburh ronnr- qz Trq 300 70 21.0
24321660/66 hBhrhh qrhltnr qz 1500 40 60.0
24321660/67 'Tlnr hilhnurr hh unrl urh q2 2urur 50 1000 s0.0
24321660/68 Lulnnhnulh plnnh4h tnrbnrrra 3r sz 1300 3 3.9
24321660/69 Lulnnhnulh prnnhnh rnr-8nrrta 3r q2 600 I 0.6
24321660n0 rrurr hnul urbtuurrararl urt urh qZ Irq 1500 150 225.0
24321660/7r 'Ihilhrahr kBurhnr unlhh q2 L 3600 300 1,080.0
24321660n2 Uurraurraronr q2 9c 6000 r50 900.0
24321660/73 Uhrahr rrnnruthh s2 9q 60000 200 12,000.0
2432r660n4 Snlnrll qt L 1500 250 375.0

37537730/r Lntuulft]rnr]ruhrlurhlr uu hurr.n 10000 1 10.0

24321660133 Lppur2hprn ppnrlmnnqputShulh
rahrahnhhn

SZ Sr.t 110000 1 110,0

30277200/r 'I1 nrpur\f phurilur\urpqlr2 q2 hurtn 350000 2 700,0

3922tI30/7 trrudruh 50rlr purn&n hhrnrl uu Zuru 800 I2 9,6

39221130/2 trurdurh 600rlr purn&n hhrnrl uu Zuln 2000 6 12,0

39221130/3 trurdurlr 3000ilr qubn bhrnd uu 2unn 9000 4 36,0

3922L730/4 trurdurh 50rir qrubn hhrnrl uu Zurrn 600 7 4,2

39221L30/s trurdurh 100rfi qurbn hhrnrl uu 2urtn 800 5 4,0

3922Lt30/6 trurdurh 50rir gurbn Lhrnrl uu Zunn 1200 3 3,6

3922L730/7 trurdruL 600rir qurbn hhrnrl uu 2uru 2000 5 10,0

3922L130/8 trurdurt 600rjr rurn&n hhrnrl UU Zunn 2000 2 4,0

3922LL30/9 trrudrut 1000dr qurbn Lhrnrl UU Zuln 2500 6 15,0

3922LL30/LO .Furdrut 2000rfi ourbn hhrnrl UU Zuru 5000 3 15,0

3922LL30lLL $t urh l 0rit ullurbturnrnhhnrl UU Zunn 800 3 2,4

3922LL30/12 9r urh 25rlr rururubturnrnhhnrl uu 2rurn 900 3 2,7

39221130/t3 Qt urh 50rlt urulurhturnrnhlnd uu Zuln 1000 3 3,0

31.671.100/1 Vlnpruhururur\ \npu 1 000il1 3 urnrp.
29/32-14/23

uu Zuru 7000 2 14,0

31.677700/2 klnpurhururur\ \npur 3000rI1 3

wn.rr.29/32-I4/23
uu huru 13000 4 52,0

31677100/3 9lnpurhrutnurll bntpur 50tlr 14l23urh$nrl uu hunn 1200 3 3,6

37677t00/4 9t nnurhurururh Lnr nur 100fi l4/23cr h$nrl UU hurn 1500 4 6,0

3167troo/s trnthqhtrh Lnrpru 2500rlr uu huru 8000 2 16,0

33Ltt2r0/t Surh&hh N3 90tlt UU hurur 500 5 2,5

33lt12r0/2 Surh&hL N0 uu hurtn 300 5 1,5

3922L420/1 fu nq ruhurL fi nn &urhnrahtfhE uu hurn 500 10 5,0

39221420/2 fu nq ruhurh rlrnn &urhnphrhnpn uu hurur 300 10 3,0

38s9t2OO/r 'Tlhurhu rhmhntuurtuh brurlurr h 10- 100rILr uu Zurur 25000 2 50,0

38s9!200/3 'Tlhu hu'tluruurhnhul uruutluruh 3rlt uu Zruur 80 30 2,4

3843L720/t Ourlpurl;ur1 0-200 ribr (+hnhb) UU Zuru 6 2000 12,0

38s9L20012 2urqurrr d:7.5uil uu Zunn 1000 7,0

3859L200/1.1 2ruqurn d=7.5url ui I uruurluruh uu Zurur 700 3 2,1

38s9r20013 tursurn d=lOuil uu Zurur 1000 7 7,0

38s9t20014 $hturn Cnufr d=4utl uu Zunn 52s0 l0 52,5

38s91200/s 2urqurn d=4urf UU Zurur 400 4 1,6

38s9t200/6 turgurn d=6url uu 2uln 700 4 2,8

38s91200/7 2ruqurp d=9urfut t tuuurdruuh UU Zuru 800 3 2,4

38s9t2OO/L2 2urqurn d=5urfurt ruuurrluruh uu 2urtn 200 3 0,6

38591200/8 turqurppurdu,rbfl .{'}-3 500tf 1 ft nhnru) uu Zurur 7000 I 7,0

38s91200/9 2urqurppurdurlrh> .{+-S 1000rlr Gnhntu) uu 2unn 7500 I 7,5

38s9r2OO/10 trurdrutrhr &rucurn 2000rlr uu Zunn 1s000 2 30,0



3859L200/1 Lruurnhnntrhr uu Zurur 1500 5 7,5

3859L200/2 Ltururnhturnnnor huhhhhn UU Zunn 25 100 2,5

3924L260/7 Othhrh L-145ilrl, Witee uu Zunn 2000 3 6,0

3924L260/2 Orhtrh L-200ild, Witeg uu Zuru 4000 3 12,0

38s90000/1 ll[urtrquil1 uruul ptp[p nhfr2-urqurpuru
MC-2 ilhtnnurnrlhhullurn

SZ Zunn 2s0000 1 2s0.0

38s90000/2 hqnQfpuluhd - 1 1 fp\urpbpruqmgtr2nq
(130tlr)

qz Zrurn 220000 1 220.0

38s90000/3 tlurqhf uur\uh luunhf 2f rlurqhlru 2url SZ Zunn 2000 2 4,0

38s90000/4 thuqhlruur\urh luurnhfr2]r rlurqL]ru 3uti SZ Zurtn 3000 2 6,0

38s90000/5 llurqhf uru\urtr ]uurnhfrl sz 2uru 80000 3 240.0

39L21.1OO/r Qnuruhnurtr 2 rqurhurnurhhhml uu 2unn s0000 I 50,0

39L2rtOO/2 Qpuruhqurh l ulurhurlrurbhh"rl UU Zunn 40000 4 160,0

39Ltrt8o/r Upnn qpuruhh3ur\ur3|rh lt*Z.lh
ulruurnurnnr]

uu Zurur 11000 15 165,0

39Lrt18O/2 Znrnrlurhullnn rurann UU 2uru 30000 1 30,0

39t383!O/r trurq\rupnn qpuruthlur\u1|rh \ur2rlh
uluruururnnrl

uu Zruu 60000 1 60,0

44423200/L Uurnhdurtr uu Zurur 25000 I 2s.0
397LLL O|r Uurnhurnutr Lhhqunurhb sz Zurur 220000 2 440.0

424ts220/t Uurtturb 2 urhhrlurhh uu Zurur 25000 I 25.0

4422Lr00/L 4lururnrhurh urt tnuihhh qZ Purn.tf 390s0 49.4 1.929.07

44227100/2 Uhlururuul ur2urul urh qurhg qz €urn.r.[ 7700 1,3 10.01

4422ttOO/3 '\nm ur11ntil|rhh qZ €urn.rJ 48000 13,8 662.4

44792300/7 'Tlurtnnrhurhurqnq u t uruuht h qZ q/ti 6300 20,64 130.032

Ourxuprplnrtrtrtp 49,453.6
65211100/7 $urqlrpru2|unul uu nnunl 9332200 I 9332,2

6531 1 100/1
h1h\tnpur\urhnrpl urhpur 2 iunul uu rlpunl 2024100

0

I 2024t,0

65111100i1 furlhrntqnhpurrlunril uu nnurd 3537000 1 3537,0

642t1100/1
Zrutrprul f trhhnurlunuurl frhburnurl nr-p1 mhh
hn

qz 'Ipuril 2756800 I 2756,8

5031 1 120/1 hulfur\urpqlurlhL uurpphplr
ulurhulurtlirutr h tlhpurirnpnqtfruh
burnurtnlralnrhhhn

uu 'Ipull 720000 720,0

90s1 1 1s0/1 Uqp[$n]uu4prltuhbrunur3nr-plnr-hhhp uu 'Ipruil 951700 I 951,7

79987100/1 purdurhnp4ruqpriruh Eurnur3ntplmtrtrhp uu 'Ipunl 9s7900 I 957.9

72611r00/1 hunfur\rupq2ur3f h uhluLf \ur\url:
odurhnurL riurh Eurnurlntratnr-hhhn

'uu
'Iprurl 900000 I 900,0

60411200/r Urllrulnnrlu uu 'Ipurtl 100000 1 100,0

60471200/2 Urllrunnnilu uu 'Ipuli 150000 4 600.0

48767100/r hur\ul{frpnr-uur1}rh hullur\urpq2ur3}rb
bnurqnurhh rhurrahrahhn

uu huru 12000 40 480.0

7982rr70/r Srqurqpur\urh h
urnurprlurhburnurrnlrarnrtrhhn (hnurhurho)

uu hruur 7 r0000 70.0

79827\70/2 Squrcpurllurh h
urnruprlurhEurnrut ntplnr-hhhn ft nurhurhq)

uu hurur 6 2500 15.0

79827170/3 Squrqpur\urh h
urnruptiruhburnurl ntpl nr-hhhn ft nurhurhq)

uu hunn 10 1000 10.0

85141300/1 'Ihrltu qnp bur\urhbtunurlnrpl nr-hhhp qZ hurur 72 100000 7200.0

85141300/2 'Ihqurqnpbru\urhburnurSnrp3nrhhhp qz huln 20 25000 500.0



85141300/3 'Ihrlurqnpbur\urhburnrulnrp3nr-hhhp SZ hurtn 3.7 10000 37.0

72261170/l Opurqpru3 frtrurqurhnrlriurhbunrul nrpl nrhh
hn

uu hurtn 20000 2 40.0

72267110/2 Opurgpul irtrurulurhnrltiruhErunul ntpl nttrh
hn

uu hurtn 10000 I 10.0

76137100/7 9urquruqurnrlurhhurr.Iu\rupqhtnhluhhu\
urt urhuu uruurnh tiurhbrunurr nrrarnth

uu 4Furd 94856 I 94.856

77317200/r Sutpurbpf purph\upqrfurh burnurlnrp;nth uu Zuru 150000 1 150.0

99600000/1 Urr burluuhn q20 rlnurl I 900000 900,0

cLrlullb\.c I17,194.212


